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w2t AABC ¢ ADEC




4.  TRZ oA &2 AL T/
@O AABC o AAED(SSSH2)
@)AB: AE-BC . ED

® BC = 10cm

@ /AED °] j-7+2 /ACB

® AE °] tf-3H-2 AC

~&B \

AABC & AAED oA

(AE=325 AB:AE=AC:AD=3:1
. AABC o AAED (SAS %2)

.. AB:AE =BC:ED




e 1™ olA AABC 9F aADEF 7} &2 @] H&HH t= & o=
Z23& WEsfof =He71?

D

45° ~ N
~ PRV E ~ Pl
~12cm--~ ~9cm-

@ZA:75°,£D:45°
@ «C=80°, (F =55°
® AB =8cm, DE = 6cm
@ AC =4cm, DF = 3cm

® AB= 15¢cm, DF = 12cm

B ~

® (B =45° /A ="75°]", /C=60°

(E = 60° /D = 45°°|H, (F = T75° .. AABC
O AFDE(AARS)
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(E =60° (F =55°]|H, /D=65°
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AABD €} AACB ©)| A
AB:AC=6:12=1:2
AD:AB=3:6=1:2

(A ETE

. AABD @ AACB (SAS &)
BD:BC=1:2°]BE& 7:x=1:2
L x=14
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(C 7} EE0|11, /A = /DEC °|B 2
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@O AABC o AHBA
@G)ac AH=5:2
® /BAH = /ACH
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AB:BH=5:30]2&
@24 5: 3 ojth.
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(
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@ 5cm @)5.5cm ® 6cm
@ 6.5cm ® 7cm

~&B

AABC €} AEDC ©f| A
AB:DE=10:5=2:1
BC:DC=12:6=2:1
/B=/D

. AABC @ AEDC (SAS &)
AC:CE=2:10]2&
11:CE=2:1

. CE = 5.5(cm)
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@ 4cm @ 5cm @ 6cm @ T7cm ® 8cm

~&B

AABC 2} ADBA o] A
AB:BD=BC:AB=2:1
BE TF

. AABC o ADBA (SAS &)
AB:BD =AC:AD
6:3=12:AD

- AD = 6(cm)
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w2tA] ACDE 9] Ed& 5 + 10 + 8 = 23 |t}
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~&B ~
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A HHE =
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~2:1=AB:6

w}abA AB = 12 cm ©]t},




17. oz 2"l AC 9 dol=?

D 11 @10 ® 9
@ 8 ®7

S5 ~
AABD 2} ACBA 9|4 /ABD = /CBA
AB:CB=BD:BA=1:2

- AABD &2 ACBA (SAS &)

AD:CA =BD:BA

5:CA=3:6

3CA =30

. CA=10
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D ~
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~AF:CF=AE:CB

4:6=AE:9

AE = 6(cm)

ED = AD - AE = 9 - 6 = 3(cm)

- ED = 3(cm)
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/AEB + /DEF = 90°°] 1

AABE £} ADEF | A

(ABE + /AEB = /DEF + (DFE = 90°0] B2 &

/ABE = /DEF, /AEB = /DFE

w2tA AABE ¢0 ADEF(AA'RS)

AB:AE=ED:DF=8:6=4:3
16:AE=4:3

AE =12

DABCD = FAtZtgo|Bng2

BC =AD = AE 4 ED = 12 + 8 = 20(cm)

. ABCF = % x 20 x (16 — 6) = 100( cm?)
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AABD @} ACBA ©J|A]
AB:CB=BD:BA=4:5
/ABD =/CBA

- AABD &2 ACBA (SAS &%)
AB :CB =AD :CA
4:5=AD:15

5AD =60 , AD = 12(cm)
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(BMP = /DAP (. 9Z)
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BP :DP = BM : DA o|B&2
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ABCD £} ABAC ©J| A

/(B EF5, A4 /BAC = /BCD o|2&
ABCD ¢ ABAC (AA H)
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6:BA=4:8=BD:6
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BD=——=3
8

w2tA AD = AB-BD = 12-3 =9 °|t}.
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AABC o AHBA(AA B2
AB :0B = BC :BA
6:3=3+x):6

36 =94 3x, x =9cm




